

$$\begin{aligned}
 2f(\omega) &\rightarrow (a+1)(\omega+2) \rightarrow 15a+15 = 2f(\omega) \\
 f(-2) &\rightarrow 3a-4
 \end{aligned}
 \left\{ \begin{aligned}
 2f(\omega) &= f(-2) + a \\
 \Rightarrow 15a+15 &= 3a-4+a \\
 15a+15 &= 4a-4 \\
 10a &= -19 \\
 \boxed{a} &= -1,9
 \end{aligned} \right.$$

6

$$\begin{aligned}
 2-\sqrt{3} &= \frac{1}{2+\sqrt{3}}, \quad f\left(\frac{1}{2+\sqrt{3}}\right) + f(2+\sqrt{3}) \rightarrow \frac{1}{\sqrt{2+\sqrt{3}}} + \sqrt{2+\sqrt{3}} + 2 + \frac{1}{\sqrt{2+\sqrt{3}}} + \sqrt{2+\sqrt{3}} + 2 \\
 \Rightarrow 2\sqrt{2+\sqrt{3}} + \frac{2}{\sqrt{2+\sqrt{3}}} + 4 &\Rightarrow 2\left(\sqrt{2+\sqrt{3}} + \frac{1}{\sqrt{2+\sqrt{3}}}\right) + 4 \rightarrow \text{برای به دست آوردن حاصل در} \\
 &\quad \text{چراغش ابتدا عبارت را به توان} \\
 \left(\sqrt{2+\sqrt{3}} + \frac{1}{\sqrt{2+\sqrt{3}}}\right)^2 &\Rightarrow 2+\sqrt{3} + \frac{1}{2+\sqrt{3}} + 2 = 2+\sqrt{3} + 2 - \sqrt{3} + 2 = 4. \quad \text{دومی رسانیم سپس را یکبار می گیریم} \\
 2(\sqrt{4}) + 4 &= \boxed{2\sqrt{4} + 4} \quad \text{نویسده می عبارت دوم} \quad \text{یا سطح عبارت چراغش} \quad \sqrt{4}
 \end{aligned}$$

7

$$\begin{aligned}
 x^2 \left\{ \begin{aligned}
 2f(n) - 3f(-n) &= 4n^2 - n \\
 2f(-n) - 3f(n) &= 4n^2 + 3n
 \end{aligned} \right\} \left\{ \begin{aligned}
 4f(n) - 9f(-n) &= 16n^2 - 2n \\
 4f(-n) - 9f(n) &= 16n^2 + 3n
 \end{aligned} \right. \\
 x^3 \quad \underline{-5f(n) = 20n^2 + n} &\rightarrow \boxed{f(n) = -4n^2 - \frac{n}{5}}
 \end{aligned}$$

8

$$\begin{aligned}
 x=0 &\rightarrow 2f(0) = 3m-1 \xrightarrow{x^3} 4f(0) = 9m-3 \\
 x=-2 &\rightarrow 4f(0) = \frac{14+2m+3m-1}{15+5m} \rightarrow 4f(0) = 15+5m
 \end{aligned}
 \left\{ \begin{aligned}
 9m-3 &= 15+5m \\
 4m &= 18 \rightarrow m = \frac{9}{2}
 \end{aligned} \right.$$

$$2f(0) = 3 \times \frac{9}{2} - 1 \Rightarrow 2f(0) = \frac{27}{2} - \frac{2}{2} \Rightarrow 2f(0) = \frac{25}{2} \rightarrow f(0) = \frac{25}{4} = 6,25$$

9

$$n=-1 \rightarrow f(-1) + f(-1) = \frac{3+12+3}{-1} \Rightarrow 2f(-1) = -18 \rightarrow f(-1) = -9$$

10